Name _14 Qj

& Geometric Proofs

Directions: Fill in the blanks with the justifications and steps listed to complete the two-column proof.

Use this list to complete the proof.

]
1) Given: Z1 and £2 are straight angles. \

Prove: Z1= 272

—

Statements

Reasons

1.41 € L7 are straight ONgles,

1. Given

2. m£1 = 180°, m£2 = 180°

2. Def. of & Staight <«

3. msL1=ms2

3. Subst. Prop. of =

a 122

4. Def.of= &

2) Given: £1 and £2 form a linear pair, and

Z£3 and Z4 form a linear pair.

Prove: msZ1 + ms42 +m4sZ3 + mZ4 = 360°

Statements

Reasons

1. £1 and £2 form a linear pair, and
£3 and £4 form a linear pair.

1. Given

2. £1 and £2 are supplementary, and
£3 and £4 are supplementary.

2. Linear Pair Theorem

3l + L2 =1980° .
mL3 & metd = 180

3. Def. of supp. 4

4. mZ1 +mL2 + mL3 + mL4 = 360°

a. ddition Prop. of Eq,.

Storements Renson $
Ao A B |ITABIBC | |LGiven
Prove:BC=5 2 HB"'BQ 7. deF O‘F b4 Sgs-
3, AB=5 3 Giver
4. 5=pC 4. Swoshitution Prop.
5.8C=5 5. Sym. Prop. of £q..




#

4) Given: £1=/4

Fa S

Prove: Z2= /3
Statements Reasons
1. l 2L4 1. Given
2 41 %e3. L3Z2L4 2. Vertical 4 Theorem
3. L% L.ﬁ(- 3. Tronsitive Pop. of =
"N . ~
4. L= L3 4_Transitive Prop. of £

5) Given: /3 is aright angle.
Prove: Z4 is a right angle.

1
>

Statements

Reasons

1. L3 is aright L

1. Given

2 mne3=90°

2. Def. of o RE, L

3..3 § L4 ore supplementary

3. Lineor Pair Theorem

4t medtoni4=1%0°

2. Def. of _Supplementtny L's

£ q0° + mel = (B0

5_Sybstution Prop.

S e o 6 Qo Prop. of =
r LY is o vight L 7. Def. of vigm o
6) Given: AC = BD
Prove: 4B = CD A B 2
51’@@96”’"3 ReOSDNS
|. AC 26D . Given
2. AC=8D Z.Dec of ¥ sei
3. ABY BC=AC oy
BCt CD= BD
4, ABy BC- BC+CD 4. Subeh’r. Prop.
5 AB=CD . Sub. Prop. of EQ.
L. AB=CD 0. Def. of ¥ 5'565‘




